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It is evident he maintains it is necessary, etc. — 9912 195993 920p NN

OVERVIEW

The X1°91X X192 maintains that the 71wn is even in a case where the v is >"'rnn Ry
07w, The Xn) infers that the XN XI1w°% must maintain that two people who
bring a "1 V3 are required to say 1"1192.
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This means that the X1Inx Xiw°h follows the view of 739, as we explained
previously.”

SUMMARY
We can maintain 11192 9m17 1°2°7% 03 WX°27Y "2 only according to 727,

THINKING IT OVER
Why is it necessary for npoIn to repeat himself that 11152 "% v3 WR°27W "2 is (only)
according to 7127, since MooIN just mentioned it in the previous Xno& 7"7 '0n?!°

" See ('Xi7) XX 7"7 Moo on this Ty, See TIE (there) footnote # 5. See “Thinking it over’.

* According to X217 who maintains the reason of 1192 is because of a1p there is no need to say it if there are two
o°m>w, for 7w 110192 1R 7'k M. However according to 727 that the reason for saying 1"1191 is to assure that it
was prepared nw?, then even by >IN 2 ¥11°NR we require saying 11192 (if it is 1727w a7, or even) 1TMRW X,

? See footnote # 1.
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